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SESRERESAL) 20000 @ x 128 x 3 = 720,000 M
SESREFXESHY) 30000 H x 128 x 3 = 1,080,000 [
EEEMER 20000 @ x 128 x 5 = 1,200,000 M
EEERAESH) 3000 H x 128 x 1 = 360,000 M
BEEERQESH) 3000 H x 128 x 2 = 720,000 M
HEERGESH) 3000 H x 128 x 3 = 1,080,000 M
HEFERUAESH) 30000 H x 128 x 4 = 1,440,000 [
SEHIRZA 244 40000  x 128 x 2 = 960,000 M
K4 (AFEH]) 40000  x 128 x 4 = 1,920,000 [
OiREE%E ()
(EFLLDIGE)IARUIAXIL
EEERGERERTL) 720000 =~ 10 £ 2@ = 36000 %4
SEREFEESHY) 1,080000” — 10 & 2@ = 54000 %4
SEEMER 1,200000 - 10 4 2@ = 60000 %4
BB (1) 360,000 = 10 £ 2@ = 18000 %4
BB (24 H) 720000 = 10 & 2@ = 36000 34
BB (3EH) 1,080,000 - 10 & 2@ = 54000 ¥4
BB (45 H) 1,440000 @ - 10 & 2@ = 72000 ¥4
EHIRFAE QFH) 960000 — 10 % 2@ = 48000 34
K (AFEH]) 1,920000 @ = 10 % 2@ = 96000 %4
AILLDIBE)
EEERGERERTL) 720000 = 10 & 12 = 6000H B
SERREFEESHY) 1,080000” — 10 & 12@ = 9000H B
SEEMER 1,200000 - 10 4 12@ = 10000H B
EESR (1E4H]) 360,000 = 10 & 12@ = 3000M B
BEIEER (25 H)) 720000 = 10 & 12@ = 6000H B
BB (3EHI) 1,080,000 - 10 & 12@ = 9000 B
BB (45 H) 1,440000 @ = 10 & 12E = 120008 B
EHIXEAE 2FH)) 960000 — 10 % 12@ = 8000H B
K (AFEH]) 1,920000 = 10 & 12@ = 160001 B




